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Combined Graduate Level Examination 2020 Tier-I

[Exam Date 18/08/2021
Exam Time 12:00 PM - 1:00 PM
Subject Combined Graduate Level Examination 2020 Tier 1

Section : General Intelligence and Reasoning

Q.1 g g faeredt & & ag auf-uwg g+ it A=fafEd sjaen § usifg (?) &« wR sgam?
NZK, MBH, LDE, KFB, ?
Ans X 1.HIY
X 2. JHX
X 3.JHZ
<7 4. JHY

Question ID : 81616114020
Status : Answered
Chosen Option : 4

Q.2 & ar gui-wig Ry g & o @ s foedt e A v 5o § ok S99 9w o 81 39
ST quf-Twg 1 T &R

Ans X 1.DHSP
X 2.TXCZ
<7 3.NRJG
X 4.FJQN

Question ID : 81616112709
Status : Answered
Chosen Option: 3

Q.3 g gl fahey g ot g G U1 Y 39 s A g21iar @ 5/ she d o SifSh ersgenir d o €1

1. Turban

2. Terminator
3. Twister

4. Temptation
5. Terrorism

Ans X 1.4,2,1,3,5
XK 2.4,1,325
7 3.4,2,51,3
X 4.4,52,1,3

Question ID : 81616112708
Status : Answered
Chosen Option: 3




Q.4 Tl fafare spewmur &, 'NOSTALGIA' i ‘81’ & &4 H ghedg fohar war g, at 3t wrar &
‘FRICTION’ <hl e Thesieg fomar sram?

Ans X' 1.85
X 2.105
2 3.36

7 4.64
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Question ID : 81616114027
Status : Not Answered
Chosen Option : --

Q.5 A 9w 21 Ry g & = | i fneft deof & v g & ok 398 @ ek oRivTd &1 39 Sk
2Teg hT T R |

Ans 7 1. ARfAc®
25 2. 3T faRew
2% 3. TRl fastem
5 4. geg- fajivm

Question ID : 81616114023
Status : Answered
Chosen Option : 1

Q.6 ag e g ot fier 2reg @ I v Hafda &, 9 TR gERT 21es uge 21 @ Hafda &1
SR : fawer : : fARrem: ?
Ans X 1.3
o 2. 3T
25 3. de
X 4. e

Question ID : 81616112711
Status : Answered
Chosen Option : 2

Q.7 for gt S=meil o @A uRER geaq b T mar gefieeor @) g smgm?
78 + 48 x 8 + (26 x 7) — 39 + (45 + 15) = 210
Ans X 1.263R15
2 2. 45 3R 48
5 3.78 3R 45
«” 4. 48 3R 39

Question ID : 81616114036
Status : Answered
Chosen Option : 4




Q.8 I e o1 ToA RIS [Sruh 2Ug] & Ao agl day g, St Ry v reg—-g7a & el & A gl
AT : Ul g
Ans o7 1. %=1 R
25 2. ATgSiRar : ST
#< 3. g8 : derraar
XK 4. ST &R
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Question ID : 81616114025
Status : Answered
Chosen Option : 1

Q.9 i fafre gewmar § 'SURROUND' it 'RRUSDNUO’ & & # forar sirer g1 at St wmor &
‘MITIGATE' ! & forar sgmm?

Ans X 1.ITIEMTAG
25 2. ITIMETGA
25 3. TIIMTEAG
«# 4. ITIMETAG

Question [D: 81616114127
Status : Answered
Chosen Option : 4

Q.10 = ar dEr-gm g g g S & o= el desf F yan 5o € ofir 399 9 v e g1 39
ST HEAT-GIH T T 3
Ans X 1.25:631
2K 2.21:447
«” 3.30:908

25 4.22:490

Question [D : 81616114033
Status : Answered
Chosen Option: 3

Q.11 ag faerea gA STt =i dwean 9 I uer 4 g, T yeR gt S @ ugst dwn ok St
=T 4 gidd) ST gdfaa gl
83:3::7:5::258:4
Ans X 1.527
X 2.222
«# 3.627

K 4.123

QuestionID: 81616114133
Status : Answered
Chosen Option: 3
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Q.12 gf¥ Z9ur Fr MN R IGT AT § aF U o0 gaiea &1 @y et gfafde safag S

M

4582169

" <9 1ZT82 A
@3NS 8aN
~@3PS8GH
691882V

oooooooooooooooo

Question ID : 81616114042
Status : Answered
Chosen Option : 2

Q.13 B 99 3ma@ &, 797 ‘Rfecas & Fwd T §, Iod e’ # HeRd war § 3k
T Afgenst F TR WA g1 & 7 T 5w 9w Ao F et f e A e §

“
\/
Ans 1. 50
X2 57
x3 36
K4 b4

Question ID : 81616114145
Status : Answered
Chosen Option : 1
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Q14 R arr [evedt § @ 7€ 3pla g5 o Peafoi@a JEer & Tafed (?) & T W 3’
HFA g

Y v o 2 E
& A I ¥' £

¥
L
X2
¥
v
X 3.
£
M
X 4.
f
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Question [D : 81616112725

Status : Answered

Chosen Option : 1

Q.15 3i&Rl & IW HatSi ol Ta- & Wil &t 71 sjzaer d R =l & shffe U 9 7@ 51 R siEe &
gof &

K_CTQ_OC__KO_T_KO_TT
Ans X 1.0,K UR,C,S,C
X 2.0,KT,RCTC
2 3.PKTRCSC
w 4.0,KTRCS,C

Question ID : 81616114028

Status : Not Answered

Chosen Option : --
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Q.16 10 ST 2011 =Y ACATE T hi=-9T T U1?
Ans X 1.3f@ER

w# 2. LPAR
3. 9HaR
X 4. afErR
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Question ID : 81616114037
Status : Not Answered
Chosen Option : --

e @ wdifda &)
(18, 24, 144)
Ans X 1.(18,20,137)
7 2.(26,15,130)
X 3.(22,18,246)
X 4.(16,12,109)

Q.17 ag faerea g O S=a¢ Uk ¥R 9 ST avg @ d@6fda § i i iRy g de & "] g

Question ID : 81616114035
Status : Answered
Chosen Option : 1

R A wafda &1
(5,11, 275)

Ans X 1.(6,18,180)
X 2.(8,14,490)
<7 3. (4,16,256)
X 4.(9,15,270)

Q.18 =g faehe gA O JEad geh ook 9 341 avg 9 Hdfdd g S = Ry g de & = g

Question ID : 81616114135
Status : Not Answered
Chosen Option : --
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U1 gz few o S & o angfy F wfeatra § el B gEer 24 )

&4
s xm@
\/zg
<2 B
x
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Question ID : 81616114041

Status : Answered

Chosen Option : 2

V0 & oS ampta # fraw e &2

Ans 7113
K2 14
X3 15
K42

Question ID : 81616114039

Status : Answered

Chosen Option : 1
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2 A gy F P H T RS B AR F HA AR W 73 §T P
P FIE FT TURT SATAT T g1 SH HET H Ticlel W TE AT GET?

7 [N

~
|
|
I

QAT e

Ans

Question ID : 81616114043
Status : Answered
Chosen Option : 4




Q.22 gRRA#B w AR 'BRiaga A iR 'A @ B =1 ref & foh ‘B Firaf A &, ot fong =tistas on
f g fr Fhrafc 22

Ans X 1.C@H#M@F
X2H@CHM#F
X3 F@H#M#C
A4 C@H#EM#EF
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Question ID : 81616114029
Status : Not Answered
Chosen Option : --

Q.23 Ry Qg Fet ik Freepdt @t ea & a1 el | &) TS SIMER] B 9 A g, We 81 98
g w0 & A1 92t 9 {97 udia g, RuiRa o= & a4 3 e 2y g we=i @ arfdhe &u
| IR0 & &1
HY:
Toft e, ‘wifeRew 6 awqy &
IS oft ‘e &Y a&g’, uear =g &1
Toft sTeRf3al ueer g1

A
1. S oft HETu, FRE TE 21
Il. @E oft ‘iR &t aeg, T e 21
. 5 TR, FeTar & wedt &I
Ans X 1. et s | SIERUT AT §
& 2. et Freend | 3R 11 SIeRoT &R §
2 3. gaft freer SrgERor d &

2< 4. Fae smd || SrEReT Shedl &

Question D : 81616114131
Status : Answered
Chosen Option : 2

Q.24 Ty 7y fepeul & @ ag S g4 Wl il ofaen | vy (2) & = W) omafi?
6,7,23,41,125,7
Ans X 1.354
¥ 2.345
<7 3.245
2 4.254

QuestionID: 81616112718
Status : Answered
Chosen Option : 1
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960G
Mo S o Ty A S ST T
X2 Zhger A AR C

X3 Fger A T D
X4 Fger C 3T D

Q25 =7 &t w1 T w o & 7 ofiT FT ogAr W ASHT FAGT S Hehell B
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Question ID : 81616114040
Status : Answered
Chosen Option : 1

Section : General Awareness

Q.1 fA= & @ i A1 A U2l i Uk fAeT-ug-ufe giewuie 82
Ans X 1. SRS

w7 2.F@m

25 3. aiferdin

X 4. eligRgR

Question ID : 81616114055
Status : Answered
Chosen Option : 1

Q.2 Which of the following is the Sl unit for measuring the amount of a substance?
Ans 1. mole (mol)

25 2. candela (cd)

25 3. metre (m)

25 4. kelvin (K)

Question ID : 81616112737
Status : Answered
Chosen Option : 1




Q.3 , SIthet & fRaTa @ R & 9= 21 he, i w2r g1
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Ans 7 1. 5] SR ek
X 2. ddNTe
X 3@
5 4. g
Question [D: 81616112743
Status : Answered
Chosen Option : 1
Q.4 '16-uré fge 2reg A # @ g @ S wafda &2
Ans X 1.dA¢RE
X 2.7
25 3. fopahe
< 4. i gl
Question D : 81616114167
Status : Answered
Chosen Option : 4
Q.5 3o fohe et wore i 3urfd o2
Ans X 1. 3R
o 2. 3o
25 3. argrgl
X 4. 9RR
Question [D : 81616114058
Status : Answered
Chosen Option : 2
Q.6 & forg g=Tg ¢ At &6t faaftes” e geas | forar mam oM
Ans X 1. dwraf
w 2. g 9g
X 3. felmmarat
X 4. Ik Oy

Question ID: 81616114161
Status : Not Answered
Chosen Option : --




Q.7 ‘B9 3 IS< - Y ek 31T fohche’ (Men in White - A Book of Cricket) A<k Y&eieh & Si@dh il
8?7

Ans X 1. o AfeReR
X 2. Sifear AspeR
< 3. qpel hdad
X 4. g9t HhTe
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Question ID : 81616114062
Status : Answered
Chosen Option : 4

Q.8 SERY 2021 T WK SIFHRT & ITHR R wrgfawe arél & Agrafaa & 8?2
Ans X 1.7 guUrER G

K 2. gar e

3.3 3T

£ 4. go Tehadt

Question [D : 81616114063
Status : Answered
Chosen Option : 1

Q.9 e dc & u=HTY] grsgie & ATy A Siet s 82
Ans X 1.A18geH

2. smaEE

25 3. B

w7 4. Sl

Question ID : 81616114150
Status : Answered
Chosen Option : 4

Q.10 2020 #, ShicTehTaT Ui € AT ATH TeeTehT & foan
Ans X 1. sft oRfeet o

25 2. IR TR

< 3. ST IS @Sl 36

25 4. gaTY 9% 9 g

Question ID : 81616112756
Status : Answered
Chosen Option : 4
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Q.11 vt =1 # @ gl & Aol ZRT aSTaT SRarer 91 g€ Siom AT O arer 45 82

Ans

25 1. ufgeh fgr
£ 2.t o
25 4. afgeh mar
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Question ID : 81616114046
Status : Answered
Chosen Option: 3

Q.12 Weber per second is equivalent to

Ans

25 1. coulomb
5 2. ohm

< 3. volt

5 4. ampere

Question ID : 81616114053
Status : Answered
Chosen Option: 3

Q.13 1977 &, 1141 urél & sredet i a7, [Sigia nemsh & U 3 aikRsi 3ars & 91y dg &

Ans

TSE U TRER TATE?
< 1. S wafdg
o 2. 9% PR
25 3. T g
S 4. Ay dEad

Question ID : 81616114064
Status : Answered
Chosen Option: 3

any

Q.14 SmE.dh.8iR. (IPR) 1956 HRa &y AT GISTT ST HE SR ot

Ans

1. Tgd
w7 2. f5da
X 3. uuH

K 4.

Question ID : 81616114047
Status : Answered
Chosen Option : 2
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Q.15 _____ God=Id U= AReh €20 <Rt M9 ATI
Ans X 1.

23 2. WRT

X 3.

7 4. SR

Your Personal EX

Question ID : 81616114158
Status : Answered
Chosen Option : 4

Q.16 fr=1 & & wi=-u1 i oik viefdt & &= & avrer & fog fean S arer ga gReaR 82
Ans X 1. SlomER QRERR

X 2. S REAR

w5 3. qifd WEY WeATR (SSB) qREhR

X 4. ST FITeRR qRERR

QuestionID: 81616112748
Status : Answered
Chosen Option : 3

Q.17 eI RATRAE =@ ___ A fR¥agl
Ans X 1. garae mesr

25 2. RS

4 3. 7ERIE

o 4 RIS

Question ID : 81616114059
Status : Answered
Chosen Option : 4

Q.18 A & & Fi-ar A A (Sfiary) @ ghar 82
Ans X 1. Sfler gEr

< 2. gifert

o 3. feehiRan

25 4. =

Question ID : 81616114051
Status : Answered
Chosen Option: 3
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Q.19 el ik uferegeafen & Iepe ufaureit st Gnfad e & fog gar o oiik @ Jarera gR1
sl urerR Ruemd 158 o == o mmam am
Ans X 1.1969

2 2.1956
2 3.1947
<7 4.1967

Question ID : 81616112752
Status : Answered
Chosen Option : 4

Q.20 SR &F A ___ iR R At herure herutfes S &Y goim & |1 J9rn S 8|
Ans 7 1.8

K 2. @asan

X 3.5

X 4.

Question [D: 81616114146
Status : Answered
Chosen Option: 3

Q.21 Ay s fRaw 2021 wra A STast 2021 <l AATET T
Ans X 1.31

X222

X3.25
o7 4.30

Question ID : 81616114068
Status : Answered
Chosen Option : 1

Q.22 A= & & 5 wog & 1Y Firereer Sru=it AT 9rs A rar 82
Ans 7 1.7

K 2. e
X 3. B
25 4. HETer™

Question ID : 81616114054
Status : Answered
Chosen Option : 1




Q.23 =1 # 9 -1 HATerT 2020 # = 6l 71 ‘w@nfie (SVAMITVA)' atstHr & srf<aq & fag
W (Fis) HaTerd 87

Ans X 1. e dEe™
2 2. Py 3R foRaT Sheamor FaTer
o7 3. UATI ST HATe
X 4. e SiR T R Farer

Your Personal EX

Question ID : 81616112754
Status : Answered
Chosen Option : 4

anjs Guide

Q.24 URASH ____ &I Gk 5T 21
Ans 7 1. aTE

K2 g1

2 3. @R

X4 T

Question ID : 81616114153
Status : Answered
Chosen Option : 1

Q.25 Gi¥E! R Wial @t 7ig A @ Gt gep dioT1 ‘SAGY’ 7= 6l 71 oft1 SAGY & 'A' o o1ef e/ @7
Ans X 1. Anubhav (3rg¥d)

25 2. Atmanirbhar (STT@TfR)

25 3. Apna (319

«# 4. Adarsh (31ezi)

Question ID : 81616114048
Status : Answered
Chosen Option : 4

Q1 A el & &1 60 fomd # qU T THaT §1 B, A ¥ 25% 310 Fow §1 3 TF Wy 15 A 7 w1
T §1 e C, AT FT F 14 R & 9@ 7 ) v WY B ’R C, 7@ FE F 2 59T A ey
w7 & @ FE

ms 148 B
X215 =F
312 &
X416 =S

Question ID : 81616114078
Status : Answered
Chosen Option: 3




Q.2 Ina trapezium PQRS. PQ is parallel to RS and diagonals PR and QS intersect at O. If PQ =4 cm, SR = 10 cm. then
what is area(APOQ) : area(ASOR) ?

Ans X123
K2 4:0
3 4:25
Ka 2.3
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Question ID : 81616112773
Status : Not Answered
Chosen Option : --

Q3 R 5sin?@—4cosfd—4= 0% 0°<o<90° & ar (cot @ + cosec8) FH AT AT ey

Ans e L'g
2
K2 —
3 Yo
2
3
X4 =
2
Question ID : 81616114088
Status : Not Answered
Chosen Option : --
Q4 far A IR WH 5 9§ F T TEIT A 3R B F Oewie Teumd & v e oE dr g
&2 &
20 60
3% 35
320 2

250
225

B URHEA
s YREB

2014 2015 2018 2017 2018

ay

2014, 2016 3R 2018 & i HEUT A H AHITHa orst 1 3iiua gear, 2017 & e geue B &
AHIRT THET H TEW T s AT FH (SF & SUHGT T TF) &7

Ans X1 22.46%
2. 26.15%
K3.32.75%
K4 29.17%

QuestionID: 81616113183
Status : Answered
Chosen Option : 2




Q5 FfEx+y+z=1 xy+yz+zx=xyz=—4 ¥ @ (&% +y°+2%) F A AT H

Your Personal EX

Ans xK 1. _8
~o2 -7
<38
7 41
Question ID: 81616114083
Status : Not Answered
Chosen Option : --
Q.6 A #r 3w, B & 3T ¥ 20% A § 3T C &Y 37, A 3 B ¥ 317 F TR &1 70% g1 D Fr 9,

C &r 3T ¥ 25% 30 &1 IRy B 3iw D & 3w & fi=r 37av 223,000 ¥, aF A Fr 3w @ F) FT B

Ans X1 26,000
2. 32,000
X3 28,000
X 4. 25000
Question ID : 81616114074
Status : Answered
Chosen Option : 2
Q7 = . : y 7 T
& =T T A A FHL
6+40f3—4+6X(13—10)—2X15+-6X6
Ans x1.—29E
17
K2 =272
2
X3 —192
2
w4 =317
2

Question ID : 81616112758
Status : Answered
Chosen Option : 4
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Q.8 & a1g arforemr & sregTe &Y 3 99T F 3eaw &

2018 & uger ©F AW & &R A, B, C, D 3 E Srori ¢@RT 9= 1% FRI & F&|

FET
ger \|sFl (sl (A (e |# |5
A 620 640  |628 |635 430 |625
B 600 642|635 |580 |450 |620
c 640 635 |640 |540 625 |740
D 520 645|722 |740 |600 |780
E 548 638|720 |740 |650 |800

e K45 i B0
K240 AT 45
X3 55 3T 60
v 4 50 HIT 55

wE, dter R A F SR C @RI = T FRT F 2iwa TE&T, F990 F Eer E IR &= T FRi
T FEM T x 3F F x wAA & &= geml

Your Personal EX

QuestionID: 81616114193
Status : Not Answered
Chosen Option : --

Q.9 ; . cosect8 + sec
ﬂa tanfd = R 5%, Fﬂ'q—
cosec® 8 — sec
Ans 7
X1 -1
S
. 3
X2 =
2
. 7
X3 L
3
4 —=

2 .
- AW A

Question [D: 81616113180
Status : Not Answered
Chosen Option : --

Ans X1 565.50
<2 550
< 3. 554
4 bB2.50

Q10 oy a1 & 3 TAT @ W 23,125 & TRY x% AT THafe e & F 3 7 F 3,515.20
2 S ¥ S ofY o S ey F (v + 2)% ari¥es &X UT WROT &9ieT (2 H) A

Question [D : 81616114077
Status : Not Answered
Chosen Option : --
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Q.11 Achord AB of circle C; of radius 17 cm touches circle C, which is concentric to C; . The radius of C, is 8 cm. What is
the length (in cm) of AB?

Ans X1. 25
X2 24
3. 30
K420

Question ID : 81616114084
Status : Answered
Chosen Option: 3

Q.12 ) ;
APQRﬁ,LQ=90°%I2]ﬁ'tanR= 5%_, =+ sec P (cosR + sinP)

T AT ATT
cosec. R(sinR — cosec P) X

ans 18

Question [D: 81616113584
Status : Not Answered
Chosen Option : --

Q.13 2010 ¥ 2014 o 9w ¥ & 3=y F frdr s F9ar ggrr @fFAT A, B 3k ¢ dF fBea-fes
e (Fa) Frer garat fr A (G | ) ) e &7 gafg s

90
80

75
180

o
g0 5 2 - Ne
B o g TS =g, oW (®R) A
= a0 = = oW (F®) 8
% 30 o WG (W) C

2010 2011 2012 2013 2014

2012 # € (FeleR) A & 3c91ea, Tl aut & T8 (FeleR) B & 3iud scaea & frder gfaerd &
27 (HeT F & TUET T TEY)

Ans X1, 6.98%
<2 3.87%
/3. 5.66%
<4 4.66%

Question[D: 81616113185
Status : Not Answered
Chosen Option : --




Q.14 & o1¢ arfoe &1 sewwa #Y 3k g 71 3ew &

2018 ¥ uger ©F AL & SR A, B, C, D 3R E oRi garT a=i a8 &Ri Hr T

HET
R AT wEY At e |\ =
A 620 640 628 635 430 625
B 600 642 635 580 450 620
c 640 635 640 540 625 740
D 520 645 722 740 600 780
E 548 638 720 740 650 800

3 # SR B 3N E q@mr &= o FRT B o WEAr H 80%, Tl F e C 3R D g aH
FRT A TEw F A gfaed w7 82

Ans X1 15%
2. 17.5%
<3 12.5%
x4 16%
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Question ID : 81616114195
Status : Not Answered
Chosen Option : --

Q15 Ry 5-37F arel TE&AT 688y, 3, 7 AR 11 ¥ fye=T &, & (5x+3y) F AS AT H
Ans %143

2. 39

x<3 23

X4 38

Question ID : 81616114070
Status : Answered
Chosen Option : 2

Q.16 forelt avg @1 T131.25 I, TF A FT a7 o FT 7T F A F aR T F a7 g g
40% @ TTod FeA F OIT, 3H TEG A e qeg W (€ H) a7 wige?

Ans x1-]00
2. 105
K3 75
X 4140

Question ID: 81616112762
Status : Not Answered
Chosen Option : --
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Q.17 ABCD, =m =il €1 AB 3iR DC @iT 5t W F X fiiereh €1 AD 3iR BC &f 7w I X & E W
ok &1 afy «BAD = 68° 3k AEB = 27° §, & «BFC & AN AT Hil

Ans o1, 17°
X2.27°
X3 220
K4 150

Your Personal EX

Question ID : 81616114085
Status : Answered
Chosen Option : 1

Q.18

e x2 —-5v2x+1=0 %Fﬂ'(}",—{_"_) FT AT T FL

X1 2642

Pl

Ans

X2 1242

3

2442

5

x 4 18\!@

Question D : 81616114183
Status : Not Answered
Chosen Option : --

Q.19 365 gfay m? & T W, BT HIAHPR FAY A GF T AT T H AW 29,100 &1 FAY Hr =g
3R <31 &7 3 7 1 5 §1 FAY & BT H INAW (m H) T B

Ans X1.28.8
X2 24
73 48

Question ID: 81616114080
Status : Not Answered
Chosen Option : --
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Q20 A B CHRDFFATHI2HAINA3:4:8: 63w A RMaha Frm g1 B3R D &
et & €9 (2 ) AR AT F

Ans 1. 3906
X2 2302
x3.21,510
v 4. 2604
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Question D : 81616114177
Status : Answered
Chosen Option : 4

Q21 v gHwER, TF TG H 3 Afhd HeT W 30% g W @lEd § R avg & Hfha qew W 5%
e & F A1E ITG P 49T ¢1 TS A€ 165 F A FAGH g, @ a4 3 Aed (2 H) A

Ans K 1. 292.50
K2 325
X3 227.50
v 4 260

QuestionID: 81616114174
Status : Answered
Chosen Option : 4

Q.22 AABC, wwag fisT §1 =1 BC W @& fig D 9 YR § % BD : BC = 1: 3 §1 afE AD = 5V7
cm &, @ P & o= T HY

Ans X120 em
<218 cm
K312 cm
4 15 cm
Question ID : 81616114087
Status : Not Answered
Chosen Option : --
Q.23

3 . +
(S;vc2 — i) & T 7 =T 9 (constant term) #a |

Ans X1. 75
215
X35
K4 =15

Question ID : 81616112768
Status : Not Answered
Chosen Option : --




Q.24 zg wEanit & iwd 32.5 §1 vgel IR wEanst @ sma 25.6 § 3t sifow I dwwsit v aitwa 38.2
21 9T g, ol Ear ¥ 50% 3R § 3K grad g @ 8 &/ g1 wiwdt 3k aradt dwar @
staa AT #

Ans 1415
X2 41
X3 424
K4 42

Your Personal EX

Question ID : 81616114072
Status : Not Answered
Chosen Option : --

Q25 o & wFE W, GFA T X A Y & e wod § ik @ wem Y @ X F R wert 3 aw &
ﬁaﬁ#m,gﬂwsﬁ?%mmYsﬁtxwmr:3@12@%3&@@48@%:&@
&1 ol W@ & @ 9 kmth &, & gAES E T (km/h F) FT B

Ans X1, 7%

<285

v B2
4

X4 8

QuestionID: 81616114180
Status : Not Answered
Chosen Option : --

any

Section : English Comprehension

Q.1 Select the most appropriate ANTONYM of the given word.

Comfort
Ans 2 1. Enjoyment

«# 2. Discontentment

2% 3. Luxury
2% 4. Happiness

Question ID : 81616112798
Status : Answered
Chosen Option : 2

s Guide



Q.2 Select the option that expresses the given sentence in reported speech.
The policeman said, “It is clear that this is the work of a professional robber”.
Ans X 1. The policeman said it was clear that is the work of a professional robber.
<7 2. The policeman said that it was clear that that was the work of a professional robber.

25 3. The policeman said that it must be clear that this was the work of a professional
robber.
% 4. The policeman said that it had been clearly the work of a professional robber.
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Question [D : 81616114098
Status : Answered
Chosen Option : 2

Q.3 Select the most appropriate synonym of the given word.

Brat
Ans X 1. Rich person

25 2. Plump lady
< 3. Wise man

w7 4. Spoilt child

Question ID : 81616114109
Status : Answered
Chosen Option : 2

Q.4 The following sentence has been divided into parts. One of them contains an error. Select
the part that contains the error from the given options.

Four of earliest civilisations / of the world / were located / on the banks of or near large
rivers.

Ans o 1. Four of earliest civilisations
2 2. of the world
25 3. were located on the banks of

£ 4. or near large rivers

Question ID : 81616114196
Status : Answered
Chosen Option : 1

Q.5 Select the option that can be used as a one-word substitute for the given group of words.

A person who thinks that bad things are more likely to happen or
who emphasises the bad part of a situation

Ans X 1. Optimist
#5 2. Complainer
¢ 3. Pessimist
25 4. Misanthropist

QuestionID: 81616114115
Status : Answered
Chosen Option : 4




Q.6 The following sentence has been divided into parts. One of them contains an error. Select
the part that contains the error from the given options.

No sooner did Priya / get her report card / when she started jumping / with joy.
Ans X 1. No sooner did Priya

5 2. get her report card

«# 3. when she started jumping
25 4. with joy
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Question ID : 81616114096
Status : Answered
Chosen Option : 3

Q.7 Select the most appropriate meaning of the following idiom.

Lion's share
Ans X 1. The strongest and richest partner in a group

2% 2. The sound produced by a lion when it is attacking a prey
2% 3. The part that must be left for the guests in a party

< 4. The greatest and most desirable portion of something

QuestionID: 81616114214
Status : Answered
Chosen Option : 4

Q.8 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the
right order to form a meaningful and coherent paragraph.

A. Shopkeeper: “Here, | have packed them all.”

B. Mala: “Please give me a packet of balloons, two packets of streamers, and some
candles.”

C. Shopkeeper: “Since we are offering some discount on the balloons, you need to pay only
thirty rupees.”

D. Mala: “How much do | need to pay?”

Ans X 1.DABC
2 2.CDAB
<7 3.BADC
< 4. ABCD

Question ID: 81616112794
Status : Answered
Chosen Option : 3

Q.9 Select the most appropriate ANTONYM of the given word.

Conceited
Ans  # 1. Modest

25 2. Superior
25 3. Vain
25 4. Proud

Question ID: 81616114213
Status : Not Answered
Chosen Option : --

any
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Q.10 Select the most appropriate option to fill in the blank.

Himank's health has ever since he has refused to get himself treated.

Ans X 1. depreciated
«# 2. deteriorated
2% 3. denigrated
25 4. disparaged
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Question D : 81616114120
Status : Answered
Chosen Option : 2

Q.11 Select the option that can be used as a one-word substitute for the given group of words.

The act or habit of talking in one's sleep
Ans X 1. Monologue

25 2. Prologue
w# 3. Somniloquy
£ 4. Soliloquy

QuestionID: 81616114116
Status : Answered
Chosen Option : 4

Q.12 Select the most appropriate option to fill in the blank.

Use your logical thinking for decisions today as you will certainly succeed.

Ans X 1. desperate

< 2. critical
& 3. severe
25 4. dangerous

QuestionID : 81616114119
Status : Answered
Chosen Option : 2

anjs Guide

Q.13 Select the most appropriate synonym of the given word.

Deride
Ans X 1.Lift
25 2. Admire
5 3. Approve
7 4. Mock

QuestionID: 81616114110
Status : Answered
Chosen Option : 2




Q.14 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the
right order to form a meaningful and coherent paragraph.

A. They stopped at a village on the way to rest and drink water and found the entire village
had gathered to watch a weightlifter who was putting on a performance.

B. Tenali was very impressed and exclaimed, “You are very strong!”

C. With his big arms and bulging muscles, he picked up a 200-kg bag of rice with ease.

D. One day Tenali Raman and his wife were on their way to Hampi.

Ans X 1.DBCA
«# 2. DACB
25 3.CDAB
5 4.BDCA
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Question ID : 81616114209
Status : Answered
Chosen Option: 2

Q.15 Select the INCORRECTLY spelt word.
Ans < 1. Restaurant

25 2. Referred
«# 3. Reciept
25 4.Rhyme

Question ID : 81616112805
Status : Answered
Chosen Option : 2

Q.16 Select the most appropriate option to substitute the underlined segment in the given
sentence. If no substitution is required, select ‘No substitution’.

With magnifying glass, we can observe how minute insects like ants behave.

Ans % 1. No substitution
25 2. Using magnifying glass
% 3. By a magnifying glass
«# 4. With a magnifying glass

QuestionID: 81616114100
Status : Answered
Chosen Option : 4

Q.17 Select the option that expresses the given sentence in passive voice.

The boy's cricket ball broke the neighbour's window.
Ans  # 1. The neighbour's window was broken by the boy's cricket ball.
25 2. The neighbour's window was broke by the boy's cricket ball.
25 3. The neighbour's window is broken by the boy's cricket ball.
% 4. The neighbour's window had been broke by the boy's cricket ball.

Question ID : 81616114097
Status : Answered
Chosen Option : 1




Q.18 Select the most appropriate meaning of the following idiom.

A live wire
Ans 7 1. Avery active or energetic person

2% 2. An angry and bad-tempered person
2% 3. Aninfluential and powerful person

25 4. A dangerous and evil person
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Question D : 81616114215
Status : Answered
Chosen Option : 2

Q.19 Select the most appropriate option to substitute the underlined segment in the given
sentence. If no substitution is required, select ‘No substitution’.

Suresh has only been working here since one month and he has already learnt the job.
Ans  # 1. here for one month
2% 2. here from one month
2% 3. here ever since one month

£< 4. No substitution

Question ID : 81616114099
Status : Answered
Chosen Option : 1

Q.20 Select the INCORRECTLY spelt word.
Ans X 1. Teacher

< 2. Proffesser
< 3. Director
25 4. Headmaster

Question ID : 81616112804
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Tourism is one (1) the biggest businesses in the world, generating (2) 200 million
jobs. It is vital for the economies of (3) countries. The downside is that tourism is a
major (4) of climate change through the carbon (5) it causes.

SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank number (1).
Ans X 1.in

< 2.by
X 3.at
4. of

Question ID : 81616112789
Status : Answered
Chosen Option : 4




Q.22
Ans

Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Tourism is one (1) the biggest businesses in the world, generating (2) 200 million
jobs. It is vital for the economies of (3) countries. The downside is that tourism is a
major (4) of climate change through the carbon (5) it causes.

SubQuestion No : 22
Select the most appropriate option to fill in blank number (2).
25 1. at last

£< 2. at most
¢ 3. atleast
2% 4. at much
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Question ID : 81616112790
Status : Answered
Chosen Option: 3

Q.23
Ans

Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Tourism is one (1) the biggest businesses in the world, generating (2) 200 million
jobs. It is vital for the economies of (3) countries. The downside is that tourismis a
major (4) of climate change through the carbon (5) it causes.

SubQuestion No : 23
Select the most appropriate option to fill in blank number (3).

w” 1. many
2% 2. enough
5 3. less
25 4. much

Question ID : 81616112791
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Tourism is one (1) the biggest businesses in the world, generating (2) 200 million
jobs. It is vital for the economies of (3) countries. The downside is that tourism is a
major (4) of climate change through the carbon (5) it causes.

SubQuestion No : 24

Q.24 Select the most appropriate option to fill in blank number (4).

Ans

w7 1. contributor
25 2. quantifier
2% 3. revolver

#< 4. contractor

Question ID : 81616112792
Status : Answered
Chosen Option : 1




Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Tourism is one (1) the biggest businesses in the world, generating (2) 200 million
jobs. It is vital for the economies of (3) countries. The downside is that tourism is a
major (4) of climate change through the carbon (5) it causes.

SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank number (5).
Ans X 1.omissions

£< 2. options
5 3. variations

w# 4. emissions
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Question ID : 81616112793
Status : Answered
Chosen Option : 4
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